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Final Exam Review

1. Give the equation of the tangent line to the given graph at the point where x = 0
a f=hEx+h+re” = YTI=EX
b. f(¥)=InQx+1)-3e™ @ %:@ =[x
. fxX)=+9-x" >

2. Find the inverse of the following:

2
C et S Y=k
+1
b f(x)== T = %:+|”X 2

3. Find the derivative of the inverse for the following: /

e

a. f(x):,\'3+‘]_, f(2)=9’ (]‘l)'(g)z ‘l

)
b. f(-3)=1fM=2f(3)=3f0=-2 (") 0= 3
c.  f(x)passes through the points (3,-2)and (-2, 1). The slope of the tangent

line to the graph of f(x) atx=3is-1/4. Evaluate the derivative of the

inverse of fat -2.
4. Find the equation of the tangent and the normal lines to the parametric curves at the
given points: ‘&'QI/ y\orlMQ\
a. x()=-2cos21, y()=4+21,(-24) X=-2 % =
\/ b. x(t)=3cos(3r)+ 21, y(r)=1+5t,(3,) %‘\ Eo(q,) '-fr -5.()«})
5. Give an equation relating x and y for the curve glven parametncally
a. x(r)=-=1+43cost y()=1+2sins &L> -+ (_%_)
b. x(t)=-1+3coshr y(t)=1+2sinh¢

. )
c. x(O)=—1+4e' y([)=2+3e” l: Q(_)_ C%;,)

6. Differentiate the functlon S _K:(‘ (
fo=3" -?ﬁx)-[zx%ji‘ T
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b. f(x)=tan(log, x) 9‘?(\() Se¢ (QQ-i,
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cosh x
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7. Integrate:
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b. J.43‘ dx

] ‘ Y
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C. I dx S~ \S )\3- \IBE‘XL

X
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11. Determine if the following series (A) converge absolutely, (B) converge
conditionally or (C) diverge.
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21. Determine the convergence or divergence for each series with the given general
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